CSE 370,

HW?2 Key Graded questions:

Spring 2007 1 (1p), 2 (1p), 4 (2p), 6 (3p), 7 (1p)

1)

f=(AvBCD)v(ADVB(CVv A))=(AANBCD)V(ADAB(CV A))
=ABCDV(ADA(Bv CA))=ABCDVADB

2) =XAXAYAYAXAY=(XAXAY)V(YAXAY)=(XA(XVY)V(YA(XVTY))
=XXVXYVYXVYY=XYVYX=XxorY

3) Name the intermediate outputs S' and C; (for the left HA) and C, (for the

right HA)
A B Cin S' CI S CZ Cout
0 0 0 0 0 0 0 0
0 0 1 0 0 1 0 0
0 1 0 1 0 1 0 0
0 1 1 1 0 0 1 1
1 0 0 1 0 1 0 0
1 0 1 1 0 0 1 1
1 1 0 0 1 0 0 1
1 1 1 0 1 1 0 1
The italic columns are equal to the truth table of the FA.
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b) f=(ADVAC)(B(CvBD))=(ADvVAC)BC=ABCDVABC
=ABCDVABCDVABC=BCDVABC=BC(DVA)
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5) a)

f=ABCDVABCDvVABCDvVABCDvABCDvABCDvVABCDvVABCD
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d)
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d)

e)

f=(AvBvCvD)(AvBvCvD)(Av BvCvD)(AvBvCvD)AvBvCvD)
ANAVBVCvD)(AvBvCvD)(AvBvCvD)

f=> m(3,4,5,6,11,12,13,14)=ABCDvABCDv ABCDvABCDvABCD
VABCDVABCDvABCD

=[] M0,1,2,7,8,9,10,15)=(Av Bv CvD)(Av Bv CvD)(Av Bv Cv D)
ANAVBVCVD)(AvBvCvD)(AvBvCvD)(AvBvCvD) (AvBvCvD)

F=]] M(0,1,2,3,4,5,8,12)

F=(AvB)(AvC)(CvD)

F=ABVACvVCD

F=AVBAvVCCvD=AABAAACACAD
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F=AvBvAvCvCvD

[(X,Y,2)= YXVYX , 4 literals (count all occurences to measure minimization resutl!)
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